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$LV\DK�$PLQL�������³3HQHQWXDQ�1LODL�.D\X�+XWDQ�5DN\DW�GL�.DEXSDWHQ��
3DGDQJ�3DULDPDQ�GHQJDQ�PHQJJXQDNDQ�3HQJLQGHUDDQ�-DXK´

3HQHOLWLDQ� LQL� EHUWXMXDQ ��� 8QWXN� PHQJHWDKXL WLQJNDW� NHUDSDWDQ� WDMXN� GL
KXWDQ�UDN\DW�.DEXSDWHQ�3DGDQJ�3DULDPDQ�����0HQJHWDKXL�EHUDSD�QLODL�ND\X��KXWDQ�
UDN\DW�.DEXSDWHQ�3DGDQJ�3DULDPDQ�EHUGDVDUNDQ�YROXPH�ND\X �P��KD���

-HQLV� 3HQHOLWLDQ� LQL� PHUXSDNDQ� SHQHOLWLDQ� GHVNULSWLI� NXDQWLWDWLI� � GHQJDQ�
PHQJJXQDNDQ� PHWRGH� SHQJLQGHUDDQ� MDXK� 3HQHOLWLDQ� LQL� PHQJJXQDQDNDQ�
SHQJRODKDQ� FLWUD� VHQWLQHO� �$� GDODP� PHQHQWXNDQ� NODVLILNDVL� WLQJNDW� NHUDSDWDQ�
YHJHWDVL�GL�KXWDQ�UDN\DW�.DEXSDWHQ�3DGDQJ�3DULDPDQ��6HGDQJNDQ�SHQHQWXDQ�QLODL�
ND\X� EHUGDVDUNDQ� YROXPH� P��KD� GLODNXNDQ� GHQJDQ� SHQJDPELODQ� VDPSHO� SRKRQ�
XQWXN� PHPSHUROHK� GDWD� SRWHQVL� WHJDNDQ� GHQJDQ� PHPEXDW� SORW�SORW� FRQWRK�
EHUEHQWXN�OLQJNDUDQ SDGD�VHWLDS�NHODV�WXWXSDQ�ODKDQ��VHODQMXWQ\D�QLODL�KDVLO�KXWDQ�
GLSHUROHK�GDUL�SHUNDOLDQ� WRWDO�YROXPH�UDWD�UDWD�SRKRQ�SHU� MHQLV�GHQJDQ�KDUJD�SHU�
MHQLV�

+DVLO�SHQHOLWLDQ�LQL�PHQXQMXNNDQ EDKZD����7LQJNDW�NHUDSDWDQ�YHJHWDVL�GL�
KXWDQ� UDN\DW� .DEXSDWHQ� 3DGDQJ� 3DULDPDQ� EHUYDULDVL� PXODL� GDUL� VDQJDW� UDSDW��
UDSDW�� FXNXS� UDSDW�� WLGDN� UDSDW�� GDQ� � WLGDN� DGD� YHJHWDVL�� .DWHJRUL� \DQJ� SDOLQJ�
PHQGRPLQDVL� DGDODK� NDWHJRUL� UDSDW� GHQJDQ� OXDV� ��������� KD� ���������� ���
%HUGDVDUNDQ�LQYHQWDULVDVL�\DQJ�GLODNXNDQ�GDUL�HQDP�MHQLV�WXWXSDQ�ODKDQ��WHUGDSDW�
���SORW�VDPSHO�SHQJXNXUDQ�GHQJDQ�MXPODK�NHVHOXUXKDQ�SRKRQ�DGDODK�����EDWDQJ�
SRKRQ�GDUL���� MHQLV�SRKRQ��GHQJDQ� WRWDO�SRWHQVL�SHQHULPDDQ�KDVLO�ND\X�GL�KXWDQ�
UDN\DW�.DEXSDWHQ�3DGDQJ�3DULDPDQ�\DLWX�VHEHVDU�5S��������������������GHODSDQ�
EHODV� WULOLXQ�� VHPELODQ� UDWXV� HPSDW� SXOXK� GXD�PLO\DU�� HQDP� UDWXV� GHODSDQ� SXOXK�
WXMXK� MXWD� �� VHPELODQ� SXOXK� WXMXK� ULEX� OLPD� UDWXV� GHODSDQ� SXOXK� HQDP� UXSLDK��
GHQJDQ�WRWDO�YROXPH�\DLWX�����P��KD�

.DWD�.XQFL���+XWDQ�5DN\DW��.HUDSDWDQ�9HJHWDVL��1LODL�.D\X


